MANUAL 2100&

INSTALLATION INSTRUCTIONS

MODELS
EH3PA-|-5A

EH3PA-|-
EH3PA-| -
EH3PA -3-
EH3PA-3-
EH3PA-3-
EH3PA-3-
EH3PA -3-
EH3PA-3-

OA
SA
9B

2B
5B
9C

2C
5C

OPTIONAL ELECTRIC HEAT PACKAGES

FOR USE WITH MODELS

P3IAl, P36A5

PH3I-2, PH36-4




e

| Ty

‘r.lfnml_.lu.j .- - = - : ;
- g : , ‘42 P

Figure 1




IMPORTANT

The equipment covered in this manual is to be installed by trained,
experienced service and installation technicians.

SHIPPING DAMAGE

Upon receipt of equipment, the carton should be checked for external
signs of shipping damage. If damage is found, the receiving party must
contact the last carrier immediately, preferably in writing, requesting
inspection by the carrier's agent.

UNPACKING THE HEAT PACKAGE

Remove the heat package from the shipping carton. The heat package
must consist of the following: (See Figure 1)

1. Basic heater enclosure with controls and instaliation instructions,

2. Plastic bag containing (1) 230V terminal block; (1) grounding lug; (4)
#10-16 x 1/2" screws; (2) #8-16 x 1" screws;(1) #10-24 x 1/2" screw;
and (1) wire tie.

INSTALLATION .

Disconnect all power supplies to the air conditioner or heat pump. Remove
the control panel service door. Remove the four (4) #10-16 x 1/2" screws
which secure the electric heat cover plate. Remove the electric heat cover
plate from the blower partition and discard. Carefully insert heater
package through the opening, provided in the blower partition. Guide the
heater package into the opening being careful to align the locating pin(s)
of the heater(s) in the dimpled holes provided in the rear of the blower
partition. Line up the four (4) holes in the heater control panel with the
four (4) prepunched holes in the blower partition and secure the heater
package to the blower partition with the four (4) #10-16x1/2" screws
provided.

WIRING CONNECTIONS '

Connect the wires exiting the bottom of the heater package into the unit
circuit by plugging in the plastic snap lock fitting into the mating fitting
located on the rear of the control panel.

IMPORTANT: A separate power supply must be provided for use with
any optional heater package. DO NOT attempt to
connect a heater package with a basic unit to a single
power supply.



() 11111

______________

b W TR T

. R ™ "TEIE] )
. . b
=) ﬁﬂmu; E L ‘ F—:U“—u .t ) - q”ld @ %, §
! EI. ¢ 3 _ .h ] *. -
) ﬁ“‘t - . - » L} \
oo , ’

58
-y

)

H
‘:z;/_-

g1

L} 5 AJ
e 4 b
|
- . 0 ‘11

LA M R L o AR B LS A A, LA SRR T AT 5 e
i "

_-:-._ .:._-.

’_
ullr

ﬁ/r
NERDEEEEEAERRANN}

Figure 2



Tubirem T T iad AT M T AR S

T - W

3 7
fé

h iy i R \,‘., Ju—. .:. s i‘:’
:

.....
S .
=

N 1 a o V
O wiTH MICRG DEVICES - -
(L JATOFF TYPE ANALInAngl e oy

Crcut B

. ‘E‘_Fq!'; e i‘i 2 ‘_.'

5

&
L/
T
. A~
Gy b A
Rt A

20

SOUPMENT
ARmD

f[

]
B ]

4
-
|
|
-
| r

i

il

QR0 -0 TR0 0] ]Sara



Remove the unit control panel cover and the inner 4-1/4% x 7-3/4" cover.

By removing this cover an isolated area is exposed. Install the high
voltage terminal block. Use the two (2) #8-16 x 1" screws. Install the
grounding lug, wusing the two (2) #10-24 x 1/2" screws into the

prepunched holes supplied.

Route the line voltage power circuit wires from the heater package through
the bushed hole in the control panel to the newly installed high voltage

terminal block.

Inspect all
enclosed wire ties.

wiring for damage and secure any

See Figure 3 for completed assembly.

terminal block cover, control box cover and blower service door.

Energize both power supplies and check for proper system operation.

loose wiring with the
Replace the

PARTS LIST
OPTIONAL ELECTRIC HEAT PACKAGES

< |55 |28 %0 IR |8
[Ty - - =] - - N — —
R N N N R L L L
1 | | | ! I ] 8 <I 8 <I g

Part No. Description 3:_ Et_ Et_ E E Et_ Et_ o o =+
on o o o’ o on o 2z} oy
ri{rx|jx (T {T|xT |T |T
Wl |w W W {w|w W jw

8401-006 | Contactor 2P20 (1) | (1) (2} (1) (1) (2)

8401-002| Contactor 3P25A (M (1)

8614-017| Fuse Block X

8614-006) Fuse 30A (2)

8614-007 Fuse 60A (2)

8607-013| Terminal Block X | x

8607-014| Terminal Block x| x| x| x| x| x

8402-026 | Thermai Cut-off (1Y ((2) § (30 (2) ()] (3) (2)1(3) (3)

8402-012| Limit Switch X | X x| x| x| x| x| x| x

8201-032t Blower Relay x| x| x

8201-008; Blower Relay x | x x] x| x| x

8604-042 1 Heat Strip 5Kw 240v x

8604-044 | Heat Strip T0Kw 240v X

8604-047 | Heat Strip 15Kw 240v X x

8604-048 | Heat Strip 9Kw 240v X

8604-046 | Heat Strip 12Kw 240v X

8604-072 Heat Strip 9Kw 480v X

8604~-051 Heat Strip 12Kw 480v X

8604-052 | Heat Strip 15kw 480v X




NRE
@
—~—&} (3

O

6 Pin Connector
{Flts mating

connector on models
P31Al, P3I6AS, P36A5-3, TN 1
PH31-2, PH3E6-4, PH36-4-3 >

l——Heating Blower Relay

Limit

Contactor

Heater @

—p(L2) (L]
P

Thermal
EH3PA-1-15A Cut-off
Fuse Block
e
3
Fuse A -
F B -
" Cxt.B nee
These componentsfieldQ
mounted in control '
Equip. Ckt.B panel of unit. !
Ground '
D_@D E[%:D N-230V Heater &
| I | Terminal Block
3 1
L
| [ 1
= = USE COPPER OR
y Y \/ ALUMINUM WIRE
250-60-1 L

280/210-50-1

Electric
Heater

60A Standard Clasa K~5
30A Standard Class K-5

The EH3IPA-1-15A heater package consists of the following:

(1) Basic heater package.
{1) Terminal Block (Cat.No. EBPor 11933),
{1} Listed Ground Terminal §-12 AL, 6-14 CU.

Refer to the heat package instructions for proper installation.

2nd heat contactor operates only during emergency heat
or compressor cut-off.

& EH3PA=1~15A
HEATER PACKAGE

FACTORY WIRING

Low Voltage

FIELD WIRING

High Volloge s wn we o= - I4067""l’50A




Equip,
Gseund

@

@
(OO

6 Pin

Heating
" Blower
Relay:

® @)

Connector

{Fits mating connector on

modeis P3TA1, PI6A5, PI6AS-3,
PH31-2, PH36-4, PH36-41

@,

Heater

' —

Contactor

3

(3)

@Tl

Thermal
Cutoff
Elec
(@0 U@L 0T | simear e
Terminal Block
LL3 LL2 (AR}
Ckt.B
These components
fiald mounted in
Cke.B control panel of
unit.

230V Heater
Terminal Block

-

—e | — — —

|
|
i
|
}

e ——— — ——

. 2R0-60-3
: 220-50-3
USE COPPER OR 280/
ALUMINUM WIRE -
FACTORY WIRING  ‘FIELD WIRING

Low Voltage -

High Vollage s ae = e o

SKw
tric Heater

A The EH3IPA-3-38 Heater Package consists of

the following:
(1} Basic heater pachkage

{2} Terminal block (Cat, No. ERB or 11993)
(3) Listed Ground Terminal 6-12AL, 614 CU

EH3PA-3-9B

HEATER PACKAGE

. l 4067-210 A




Equip.
Ground

3

® @

> @&
® &}

543
{1 Heating

=81 ower
Relay

6 Pin Connector

(Fits

models P31A1, P3IGAS,
P36AS3, PH31-2, PH36-4,
PH36~8-3

mating connector on

imit
G-.
2 Heater Contactor
,——'7

P
A A ]

WAAAAF

e

&

T hermai

Cuteff
5 Q!Z or 1SKw

Efectric Heaters

(T (2 )

Terminal Block

EH3PA-3-12B
AL LU@1] | enspa-3-158
Terminal Block
LL3 LL2 LUl
Ckt.B
frese componentsy /N The EHIPA-3-128 or EHIPA~3-15B hester
Ckt.B control panel of package consists of the following:
unit. (1) Basic heater package
Heater (2) Terminai Block (Cat. No. ERB or 11993}

[3) Listed Ground Terminal 6-12 AL, 6-14 CU

&Rafar to the heat package instructions for proper
installation. 2nd heater contactor operates oniy
during emergancy heat or compressor cutoff.

e — | —— c— —

;zuo—so-a
| 280/220-50-3

EH3PA-3-128
A | Enpa-3-158

HEATER PACKAGESH

l 4067-220 4




Equip,
Ground

@ @
@
® &

6 Pin Connector

1 (Fits mating connector on
models P31A 1, PI6AS, PI6AS5-T,
PH31-2, PHIG-4, PH36-8-3)

1
t~—Heating
Blower
3 Relay
[F3
imit

Heater Contactor

T3H12

@._

™
Thermal
Cutoff
EH3PA-3-9C

LL3

Thase components

fleld mounted in
control panel of
unit,

460V Heater
Terminal Block

l
\ 4

P S I E—

i e e [ a— —

3
USE COPPER OR a80-60-
ALUMINUM WIRE
FACTORY WIRING - FIELD WIRING

Low Voliage =

High Vollage s  w= v == =

— e | m— —

{ K w

Electric Heater

Tarminal Block

AThe £H3PA-3-9C heater package consists of
the following:

(1) Basic hester package
{2} Terminal Block (Cat. No. ERB or 11993)
{3} Listed Ground Terminai 6-12 AL, 6-14 CU

EH3PA-3-5C
HEATER PACKAGE

[wo67-310 4 |




’ Heating
@ ' 1ower

Relay

§ Pln Connector
{fits mating connector on modals
P31A1, P3I6AS, P38AS-3, PH3I-2,
PH36-4, PH36-%-3)

imit

Heater Contactor

@
e
L2)(L1
Thermal
Cutoff
L _12Kw or 15Kw
Electric Heater
EH3PA-3-12C
(@0 [0 Tl | Terminat aia
Terminal Block
LL3 LL2 LU
fiese components /A The EHIPA-3-12C or EH3PA-3-15C heater
Ckt.B control panel of package consists of the following:
unit. {1) Basic heater package

! 360V Heater (2) Terminal Block {Cat. No. ERB or 11993}
m D@ Terminal Biock (3} Listed Ground Terminai 612 AL, 614 CU

. |
AN % |
Ckt.B |

N [

{

!
|
1
|
{

e | e st werd

EH3PA-3¥>12C
& EHIPA-3-15C

USE COPPER OR 450-60-3 ‘ HEATER PACKAGE
ALUMINUM WIRE

FACTORY WIRING _ FIELD WIRING
Low Voltage ——

Ll_l_!!h Voilage e e e - e ‘ [ 4067-320 2

— e ——







